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) ; The scores which occurs most often in a set of data is
2 Geometric mean Median Mean Mode called:
| 0 c fetrlsst y (RS y=cente| 2
-1 ] i Graphs of equation in the form of y = c have y
l coordinate:
BNA ] ANB BUA ¢ AUB=? ?u:f..'.{»BuiA/‘l 3
I If A and B are two non-empty sets then AUB=?
30 162 161 160 e Wi 2502 2,618, 4
as 0f2,6,18,..... is:
+3 +36 +9 +6 ?éi'_.,gkfj{.}/“’u_lfﬂé—izﬂl"?) 5
- _ ~__|GM. between —3 and —12 is: )
: ile A "
! S A F v G Fdeailzs’ 7
& Excise duty Income tax Sales tax Tax The tax in addition to the price of the article is called:
| X i Ny, Il et il il zdles| 8 | .
: ) The form of tax which the buyer pays ona
Sales tax Incometax | Tax Excise duty | manufactured item at the time of purchase is called:
AN Gt | e DAY M de 15 T E i i BN AR
| A machine installed by the bank to dispense cash to
Card reader ATM Scanner Computer  {the customer is called:
SRk o e v SIS LB 10
. . The periodic installment to be paid by the insured is
Markup Premium Discount Bonus | called: -
| . - % - v 81 |
100xSP CP x Profit% | Profit Profit s fad > J,;_:,,',ﬁe;.'.: brai® 11
x100 SEIuE > plell G
100 + Profit% | 100 CP CP Profit % = when SP > CP.
1 1 ! 1 1 tﬁ*ﬁ)‘ {f':’f&:;u_ﬁ»lgf(;.))’tfﬁdLLYI:}XJ{H_G..J/’ 12
i 8 2 6 4 If there is only a single daughter or  $€niL2 KUz
\' an agnatic grand daughter, her share is fixed:
A . P W N o
5.5% 4.5% 3.5% 2.5% US| 13
" Zakat is deducted at a rate of:
‘ -
= 17:15 19:15 15:19 15:17 ' e ST 75195 14
N The lowest form of 75 : 95 is:
s 7
e ESud 55 | 15
, 35% 30% 15% 20% 3
L 3¢ in terms of percentage is:
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( Part-1I djlduln)

Attempt any SIX parts: | -gf:d';lzi{;.(jf
Express 75% as fractions in their lowest form. _ggg!JJyubeu;/f’iS% @)

x 5 - b 4 ..
LUy STRE L1100 130y % < ERSEJAS G
If 4 of the students in a school have been away for a leave. How many students in every 100 have been on leave?

5
*‘Jx._.utfuwéswo'uf Il L rudY508 < P w1029 EUEL (i)

There are 1029 students in a school. 504 out of them are girls. What is the ratio of boys to the number of girls?

Calculate Zakat on silver amounting to Rs. 300000, G0y Ins 5 300000 A SSs S (iv)
Define Usher. .._é'-:_g/:'.d’/“ )
Find SP, if CP = Rs. 9600 and profit = 10% 10% = 8’;,1.1_” 9600 = 4 Fed BZE P n3s f2d (vi)
Define discount. -SE e (vii)
Find SP, if MP = Rs. 2760 and discount = 5% 5% = oAl 1) 2760 = 2f Lusg 2 BZE a5y e (vii)
What is meant by current account? '?;_JI/LJ/; 25K S (ix)
Attempt any SIX parts: g{d';l?’bg'c.éf
Define markup / profit. é_ﬁ/’J_JJL/dL» )

E el PEd -q_JL‘lJ@f 16% AU -2 34800 =2 (2wl LT (i)

A computer price is Rs. 34800 inclusive of 16% sales tax. What is the original price of computer.

Define excise @y ~E 5B Gin
Solve log(x-2)=1 log(x—-2)=1 é‘._'d-’ (iv)
Find the value of anti logarithm 1.204 -9{&’"&3’? J(‘-f@(?”l 1.204  (v)
Solve: Lﬁ% —l%%% &S o)
Write the first three terms:  ap = -513- ap = —31;‘ ’&g(iuﬂk: (vii)
Find A.M. between 4 and 8. - P agTYend 8 11 4 (viii)
Find G.M. between 4 and 9. _ S Aenl 9 4 4 (ix)
Attempt any SIX parts: !éd‘;'zlgc_tjf
Define set. -_é-..._c’_f /‘76,‘.‘{ M

IfE={1,2,3,57},F={2,4,6,8} then find EUF. -g.:'r}” EUF MF={24,6,8}E={ 1,2,_3,5,7}f5 (i)
Define prime numbers. “SEw e (i)
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Write the coordinates of origin. - é'_’.f ey s (iv)

Draw A (2,~4, on graph paper. - sy 4.1-_5!/’? AC-49 (v
1

Convert 95°F into °C SRS CTIF  (vi)

Find the range of 6, 8, 10, 14, 13, 12 -ZEred 6,8,10,14, 13,12 (vii)

Define range. ..g{u-&’ﬁJM (viii)
Find G.M. of 2, 4 and 8. SIS 8 12,4 (ix)

A 08 L ezl etirfed) pigsaan
Part - II, Attempt any THREE questions. Each question carries 08 marks.

-;érkfaéuwéaféug;u»%d;;I;g./_"?un 60° 48°d“..sl)»uf&1'—"\-g ()
Two angles in a triangle are 48° and 60°. Find the ratio of the third angle to the sum of the first
two angles.

_:,’_{r,lvppb’,,:d/_,;! _Q;édb%é@%{fb{njupéeli.ul _g}ﬁ:u’:;".v'c;.’d;.u 400000 /..uf) ()
Najeeb left a wealth amounting to Rs. 400000. He left behind a widow, while they did not have
any child. Find the share of Najeeb's widow.

3L 1110500 = Ior ST et/ Mo By LS p 2012000 S5 Bde Pre I Lnitr g1 (L)

_é‘(}”uw’,@éb’w?@f
A shopkeeper gains a profit of 8% by selling a washing machine for Rs. 12000. If he sells it for
Rs. 10500, find loss percentage.

SOV LJed < 020 6% 40600 (L)
Find compound profit on Rs. 600 for 4 years at 6% per annum.
I3 500000 =E G St SIndgs7LE1 150% e d bt e bilebs HH551000 LITLT (L)
?Jﬂf/ﬁ)lﬁggfc.l

A man wants to purchase a car of 1000cc. He has to pay 150% excise duty on price of the car.
If price of the car is Rs. 500000, how much amount he has to pay to purchase the car,

Solve with the help of logarithm table: *8%"91 :é’wﬁ'—-MJJU?Z—({f)’ (._'.,)

L&l (}/"’»L-J_'.;wﬁ. 81 .51 3 ()
-GS mdensta 3A=(-2,1,4} S ()

If A={-2,1,4} then write two binary relations in A. Also write their domain and ranges.
“ebUS¥ Y=2x =3 (L)
IS £ 1,2,3,4,6,8, 11 sy (L)

Find the standard deviation for the values 1, 2, 3, 4, 6, 8, 11. Also find the variance in this case.

9-1X119-27000

Insert two G.Ms. between 3 and 81.

Draw the graph of y =2x — 3.
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D C B A Questions / | Uy - /ed
‘é.quPJﬁ*z:% 1

20% 30% 15% 35% 7
30 interms of percentage is:
<Y LA g 2 °u3§£gf dulafortd aibiic:d 2
Consequent Antecedent Means Extremes Inaproportiona:b::c:d, aandd are called:
. . ) ) e VL A8 S b B 3
WD % 10% 25% On a crop preduced on artificial resources, Ushr is
_ deducted at the rate of: )
2500 15000 2000 25000 e F 334100000 4
2 L Zakat on an amount of Rs. 100000 is:
GRS (s pad=pied | whjed<ind | espadoyind StV ol | s
None of these SP=CP SP<CP SP>CP Profit is earned if: C
dL’r JY /-"{ ..?.i..ﬁt Iu_?é":c_fq_b'ﬂ)i )ﬁ-ﬁ{(’;(ﬁjl;& 6
Profit Bonus Premium Markup E:;Oa;;:: ?Sn;a\ﬁl;:;h is paid by the bank on the

P, A} 52 ] N A N
Lessee Drawer Insured Insurer E::epgrzgll}:&' tehr:::l ty whose insurance is being

i Szt . O, S weffﬁw VAT SO

) i Taxes in the form of duties and motor vehicle tax
Income tax Property tax Direct tax Indirecttax  |arecalled:

. Jgﬁ&ﬂ)ﬁl{}'b:u’gﬁ{dVJ;f:F{;b fL}.si’;?Jg;J 9
J‘Cfl u"'gJ'ély Aty Lﬁ :‘Lt‘tgt‘fc..iiat'lgl{dﬁ

The taxes which are charged on income, property

3 .
Tncome tex TG X Preet tex & and profits in the form of income tax, property tax
I _ ) ) and profits etc is called: B
s b 7% L s GERLL S 00| 10
Natural number Characteristjs:__ Common logarithm Mantissa The logarithm calculated to base 10 is called:

ey idit 12,16,21,27) 11

A I
"'""“l’"”hh_"-""""""""“"""“""

32 34 30 31
Next term of 12, 16, 21, 27 is:
16 +9 136 +3 e b Aund <12 4 =31 12
- G.M. between —3 and —12 is: )
ACNBC ACUBC ANB AUB (AUB)C =7 13
2 -3 0 6 y=‘??d£x=2u:y=3xﬁ 14
: If y=23x,then forx =2 we have y=?
i re ” - - i
; bl Lol s ol :4_6&4’._-,46”0“’@:,!,»__;/6( 15
' Geometric ) The middle values of data arrange in numerical
' mean Mean Median Mode order is called:
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( Part-1I J3 4daa )

Attempt any SIX parts: éd"l?l{c_(j/ <2

EOESNTIR 3TL% )
S T TS 40 LS 514 (i)

Increase 40 books in the ratio 5 :4. What would be the number of increased books?
Define inverse proportion. -QJ;JJ:".,/I'F (iii)

Define Usher. S v
&P I Ine2s300000=2 Sse S (v)

1
Express 37 > % as a fraction in their lowest form.

Calculate Zakat on silver amounting to Rs. 300000.

Find SP, when CP = Rs. 760 and loss = 4% 4% = JBlnlg_ss 760 = 4 Pl GE P sspd (vi)

Define discount. S iSe (i)
Find marked price when SP = Rs. 858 and discount = 12%  12% = Lsfle_s 858 = =dsjed LZE e edollun (viil)
Define pay order. ..# - /‘U:fﬁdv. (ix)
Attempt any SIX parts: 35’,":(}""2'@:-6:(

Convert 50 Pounds to US Dollars when rate of Pound = 1.54$ 1548 = .t-sﬁ.ég{dgw)ls‘ﬁg/»‘:sgso (i)

Define income tax. -éu.g}"lﬂfgﬁ (ii)

Define property tax. -é’: i /‘UJ? J{Q (iii)
Write in exponential form: 4/81a28 4/81a28 ek HFlvei v
Write radical and radicand in JW . <& esnsgnliio S Ji (v)
Convert 10000 into scientific notation. _&J J(Z }u’.: s 10000 (vi)
Write the first three terms:  ap =n+3 an=nt+ 3_ é{';’;d&; (vii)
Find A.M. between 4 and 8. -EE P aGTuend 8 41 4 (viii)
Find G.M. between 5 and 9. ~ZEePald Aenl 549 (%)
Attempt any SIX parts: :é J; Iz |{ a.éf

AL B={x,y} 4 A={1,2,3} 7 £={(1,%),2,9,6,0.] ()
Write the domain and range in lhe relation = {(1,x),(2,x),(3,x)} ifA={1,2,3}and B= {x,y}.

Define union of sets. u”é..gﬂ.:{ufg (i)

Find AxBiff A={2,3,4},B={1,3} A={2,3,4},B=(1,3} g AxB (i)
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Express the points E (4, 4) on a graph paper. ‘-_.:f::(/:ti;{,é_:f.-._i!/j/ E@,4) 5 (iv)

g o6l s e iz e Vgt x BB s L6 (v)
Write the coordinates of a point lying on the left hand side of x-axis and at a distance of 5 units from the origin.

Define cartesian plane. ~ZEW ISR i)
Define range. i__z‘,:(...c_f/‘?&:--" (vii)
Forthe dataset 6,2,4,3,4,5,4,5 find the mode. 6,2,4,3,4,5,4,5 ZEeulbird s, (viii)
Find GM. of 2, 4 and 8, SIS K 8 01 2,4 (i%)

--LJ,?/'.; 08 ZJivyz wg‘}:;/;aglﬁﬁa.—ﬂlrcfr_éf iy 4

Part - II, Attempt any THREE questions. Each question carries 08 marks.

St pe 4 e 22 & 04050 Fness6750 =i SUsiz1s e J1 (L)
The price of 15 suits is Rs. 6750. How many such suits can be purchased by an amount of Rs. 4050?

_“é,»:lv/‘qeuﬁooooo L‘?.’Lfifd,i!,}!f;;,éu;&ﬁ (i)

Calculate Usher on a rice crop produced by natural resources amounting to Rs. 600000.

WS wtre SO LIRS 2:3:7 L, Boss 67200 SELL )L ()
Three members of a firm divide the profit of Rs. 67200 among themselves in the ratio 2 : 3 : 7.
What is the biggest share of the profit.

-G LY Lot 18% UL L e g 1250000 (L)
Find out the compound markup on Rs. 250000 for one year @ 14% compound markup annually.
Sl lf&ﬁ{wf;:& < JES AL 20% S -<-¢1/14040 edSund L ()
A N S B Sy

The price of a television is Rs. 14040 which includes 20% excise duty. Find the amount of excise
duty included in the price of television. Also find the price of television without excise duty.

Solve with the help of logarithm table: 69.13x0.34x0.014 :égﬂ;.ud/dwﬁﬁlﬁ (&)
Find three A.Ms between '3 and 9+/3 . S A el 9V 3 (L)

AUBUC)=(AUBUC o k3 C= 4,6,8,10) 4 B=(3,6,9, 12} « A= (2, 4,6}.]1 (L)
IfA={2,4,6},B={3,6,9, 12} and C= {4, 6,8, 10} verify that ABUC)=(AUB)UC

e bl Ky =3x+5 (L)
- (GG S £ 1,2,3,4,6,8,11 sty (L)

Find the standard deviation for the values 1, 2, 3, 4, 6, 8, 11.

10-1X119-43000

Draw the graph of y =3x + 5
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